
https://www.pass4itsure.com/sg0-001.html
2024 Latest pass4itsure SG0-001 PDF and VCE dumps Download

 

 

 

SG0-001Q&As

CompTIA Storage+ Powered By SNIA Certification Exam

Pass CompTIA SG0-001 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/sg0-001.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CompTIA
Official Exam Center

 

 

Latest SG0-001 Dumps | SG0-001 Practice Test | SG0-001 Braindumps                                1 / 3

https://www.pass4itsure.com/sg0-001.html
https://www.pass4itsure.com/sg0-001.html
https://www.pass4itsure.com/sg0-001.html


https://www.pass4itsure.com/sg0-001.html
2024 Latest pass4itsure SG0-001 PDF and VCE dumps Download

QUESTION 1

Which of the following features can be used to reduce storage usage for a volume that has been assigned to a host and
been completely formatted (e.g. not quick formatted)? (Select TWO). 

A. COW Snapshots 

B. Thin Provisioning 

C. Tiered Storage 

D. Zero Space Reclamation 

E. Deduplication 

Correct Answer: BD 

 

QUESTION 2

In a performance tiered storage environment, which of the following types of data should reside on the top tier? 

A. Data requiring high I/O 

B. Encrypted data 

C. Mission critical data 

D. Frequently archived data 

Correct Answer: A 

 

QUESTION 3

Which of the following technologies can help optimize capacity utilization when storing many versions of a large file with
few changes in each revision of the file? 

A. Block-level deduplication 

B. File-level deduplication 

C. Single instance storage 

D. Asynchronous replication 

Correct Answer: A 

 

QUESTION 4

Which of the following backup restore methods takes the LONGEST? 
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A. Progressive 

B. Differential 

C. Full 

D. Incremental 

Correct Answer: D 

 

QUESTION 5

A SAN administrator is setting thresholds on trunks composed of four ISLs per trunk group. To allow for the loss of one
ISL, which of the following values should be used for the bandwidth threshold of each ISL? 

A. 50% 

B. 67% 

C. 78% 

D. 90% 

Correct Answer: B 
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